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ت الثانيت التي يتن اعذادها بعذ هىاسنت الوبيعاث ، ويتن فيها تقذيز كويت وهي الوىاسن

 الانتاج الوطلىبت بالىحذاث خلال الفتزة القادهت ، وباستخذام الوعادلت التاليت :

 
 

Quantity to be Produce = 

            Sales Volume + Ending Inventory units – Beginning Inventory units 

 
 وحذاث الوخشوى اول الوذة –الكويت الوطلىب انتاجها  = حجن الوبيعاث + وحذاث الوخشوى اخز الوذة 

 

 Unitsعلوا اى هذه الوىاسنت تكىى جويع ارقاهها بالىحذاث *

  

of this year  our monthsffor  volumes Estimated sales Example :

were as follows: 

-April               725 units 

- May               1000 units 

- June               1200 units 

- July                1700 units 

If you know that the company policy is to keep 20% of the sales 

volume of the following month as ending finished goods 

inventory in each month. 

 Required : 

Prepare the production budget for the second quarter of the 

year . 

 احدام الوبٍعاث الخقذٌرٌت لاربعت اشهر كوا ٌلً :

وحذة  1700وحذة ، حوىز  1200وحذة ، حسٌراى  1000وحذة ، اٌار  725ًٍساى 

الوبٍعاث للشهر % هي حدن 20 ارا علوج اى سٍاست الشركت هً الاحخفاظ بـ ، ف

 القادم كوخسوى ًهاٌت كل شهر .

 Production Budget 



 2الصفحت 

 

 : اعذاد هىازًت الاًخاج عي الربع الثاًً هي السٌت الوطلىب

 

Solution: 

 

Production Budget for the Second Quarter 
Total June May April Details 

2925 1200 1000 725 Estimated Sales 

340 340 240 200 + Ending F.G Inventory 

(145) (240) (200) ( 145 ) -Beginning F.G. Inventory 

3120 1300 1040 780 = Quantity to be Produce 
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 : e 2Exampl 
 

ABC Company produces a product and sell it by 10 $ per unit.  

The following information about this product: 

1-The estimated sales volumes for the first quarter of the year 

was 2000, 3000, 2500 units respectively. 

2- The company keeps equal to 25% of sales volume of the 

same month as ending finished goods inventory. 

3-The expected inventory at the beginning of the year was 600 

units. 

 

 Required : 

Prepare the sales budget and production budgets for the first 

quarter of the year . 

 
 دولار للىحذة ، والوعلىهاث الخالٍت عي الوٌخىج 10شركت حٌخح وحبٍع هوخىخها بـ 

 وحذة على الخىالً 2500،  3000،  2000احدام الوبٍعاث الوقذرة للربع الاول هي السٌت -1

 % هي حدن هبٍعاث ًفس الشهر كوخسوى ًهاٌت الشهر 25ححخفظ الشركت بوا ٌساوي -2

 وحذة  600الوخسوى الوخىقع بذاٌت السٌت -3

 

 .: اعذاد هىازًت الوبٍعاث وهىازًت الاًخاج عي الربع الاول هي السٌت الوطلىب

 

Solution: 
Sales Budget for the First Quarter 

Total March Feb. Jan. Details 

7500 2500 3000 2000 Sales Volume 

10 10 10 10 Selling Price 

75000 25000 30000 20000 Sales Revenue 
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Production Budget for the First Quarter 

Total March Feb. Jan. Details 

7500 2500 3000 2000 Estimated Sales 

625 625 750 500 + Ending F.G Inventory 

(600) (750) (500) ( 600)  -Beginning F.G. Inventory 

7525 2375 3250 1900 = Quantity to be Produce 
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:1Homework  
 

Complete the missing data on the production budget for each 

case  independently:   

Production 

Quantity 

Beginning 

Inventory 

Ending 

Inventory 

Sales 

Quantity 

Cases 

110000 ? 50000  100000 1 

78000 10000 8000 ? 2 

60000 17000 ? 50000 3 

 

:2Homework  
 

The following are the estimates of sales quantities for the 

second half of the current year: 

Dec. Nov. Oct. Sep. Aug. July Months 

19000 17000 13000 10000 7000 8000 Sales 

 

If you know the following : 

1- The ending inventory of the month of June was 8000 units. 

2- The company expects to sell 20000 units during January of 

next year. 

3- The company’s policy is that to keep equals 30% of the sales 

volume of the next month as an ending inventory for each 

month . 

 

Required : 

Prepare the production budget for the months of the second half 

of the current year . 

 

 


